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QUESTION 1

You are creating a Web application. The application will be consumed by client computers that run a variety of Web
browsers. Which term is used to describe the process of making the application available for client computers to
access? 

A. Casting 

B. Deploying 

C. Hosting 

D. Virtualization 

Correct Answer: C 

You host web applications. 

 

QUESTION 2

Class C and Class D inherit from Class B. Class B inherits from Class A. The classes have the methods shown in the
following table. 

All methods have a protected scope. 

Which methods does Class C have access to? 

A. only m1, m3 

B. only m2, m3 

C. m1, m3, m4 

D. m1, m2, m3 

E. m2, m3, m4 

F. only m3, m4 

Correct Answer: D 

 

QUESTION 3
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In your student directory database, the Students table contains the following fields: firstName lastName emailAddress
telephoneNumtoer You need to retrieve the data from the firstName, lastName, and emailAddress fields for all students
listed in the directory. The results must be in alphabetical order according to lastName and then firstName. 

Which statement should you use? 

A. B. C. D. 

Correct Answer: A 

to sort use: ORDER BY LastName, FirstName 

 

QUESTION 4

Which language uses Data Definition Language (DDL) and Data Manipulation Language (DML)? 

A. Java 

B. C+ + 

C. SQL 

D. Pascal 

Correct Answer: C 

SQL uses DDL and DML. 

 

QUESTION 5

This question requires that you evaluate the underlined text to determine if it is correct. 

To minimize the amount of storage used on the hard drive by an application that generates many small files, you should
make the partition as small as possible. 

Select the correct answer if the underlined text does not make the statement correct. Select "No change is needed\\'\\' if
the underlined text makes the statement correct. 
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A. No change is needed 

B. file allocation table 

C. block size 

D. folder and file names 

Correct Answer: C 

 

QUESTION 6

The Dog class and the Cat class inherit from the Animal class. The Animal class includes a breathe() method and a
speak() method. If the speak() method is called from an object of type Dog, the result is a bark. If the speak() method is
called from an object of type Cat, the result is a meow. 

Which term is used to describe this object-oriented concept? 

A. multiple inheritance 

B. encapsulation 

C. polymorphism 

D. data hiding 

Correct Answer: D 

 

QUESTION 7

The Dog class and the Cat class inherit from the Animal class. The Animal class includes a breathe() method and a
speak() method. If the speak() method is called from an object of type Dog, the result is a bark. If the speak() method is
called from an object of type Cat, the result is a meow. 

Which term is used to describe this object-oriented concept? 

A. multiple inheritance 

B. polymorphism 

C. data hiding 

D. encapsulation 

Correct Answer: D 

 

QUESTION 8

This question requires that you evaluate the underlined text to determine if it is correct. 

To minimize the amount of storage used on the hard drive by an application that generates many small files, you should
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make the partition as small as possible. 

Select the correct answer if the underlined text does not make the statement correct. Select "No change is needed" if
the underlined text makes the statement correct. 

A. No change is needed 

B. file allocation table 

C. block size 

D. folder and file names 

Correct Answer: C 

 

QUESTION 9

Which service can host an ASP.NET application? 

A. Internet Information Services 

B. Cluster Services 

C. Remote Desktop Services 

D. Web Services 

Correct Answer: B 

 

QUESTION 10

Which term is used to describe small units of text that are stored on a client computer and retrieved to maintain state? 

A. trace 

B. cross-page post 

C. cookie 

D. server transfer 

Correct Answer: C 

HTTP is a stateless protocol. This means that user data is not persisted from one Web page to the next in a Web site.
One way to maintain state is through the use of cookies. Cookies store a set of user specific information, such as a
reference identifier for a database record that holds customer information. 

 

QUESTION 11

You plan to create an application for your company. The application will run automated routines and write the results to
a text-based log file. Little or no user interaction is required. 
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Security requirements on the host computers prevent you from running applications on startup, and users must be able
to see the status easily on the screen. The host computers also have limited memory and monitors that display only two
colors. These computers will have no network connectivity. Which type of application should you use for this
environment? 

A. Windows Store app 

B. console-based 

C. DirectX 

D. Windows Service 

Correct Answer: A 

 

QUESTION 12

This question requires that you evaluate the underlined text to determine if it is correct. 

A data dictionary that describes the structure of a database is called metadata. 

Select the correct answer if the underlined text does not make the statement correct. Select "No change is needed" if
the underlined text makes the statement correct. 

A. No change is needed 

B. normalization 

C. a database management system (DBMS) 

D. metacontent 

Correct Answer: A 

 

QUESTION 13

You are migrating several HTML pages to your website. Many of these pages contain HTML and  tags. Which XHTML
document type declaration should you use? 

A. B. C. D. 

Correct Answer: A 
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QUESTION 14

You need to create an application that processes data on a last-in, first-out (LIFO) basis. Which data structure should
you use? 

A. Queue 

B. Tree 

C. Stack 

D. Array 

Correct Answer: C 

A stack implements LIFO. 

 

QUESTION 15

What does the Console.Error property do within a console-based application? 

A. sets the standard error output stream 

B. gets the standard error input stream 

C. sets the standard error input stream 

D. gets the standard error output stream 

Correct Answer: D 
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